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S£HJI2 ZSHNL 22 23
20,0002 «32H+x32 * 12 2,160
206 M=l 4,390 4,390
01 M= HI 4,390 4,390
OE & AZ (A5 100,000 »12& 1,200
OMYE +H2I%E PYOHIAL
40,0003 503 2,000
Os&J MEM(Satzs)
17,0002 70 1,190
207 ARl 20,000 20,000
01 ARSI 20,000 20,000
OdEHII= 2ENZ23t dXelIAE BE
HEA EY 20,000,000& *14{ 20,000
307 glztol & 1,547,323 1,398,921 148,402
05 2IMRIE =3 1,547,323 1,398,921 148,402
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2A:

A1
MOl Hel

3 HolE
Rl HOlE SEX2AIE 2l (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAZAE & HESHEAE UAASS 1,547,323
308 AXIMSOIA 144,000 144,000
07 HXHH2LEES 144,000 144,000
OHJI=xe &= 144,000
401 AlZHIZ SO 274,000 3,227,000 A2,953,000
01 A28l 274,000 3,227,000 A2,953,000
O2ZAE A4 B4 L uX 274,000
402 212 X201 & 200,000 200,000
01 QI X2 AL E A (KHMITHE) 200,000 200,000
OHIIEXcIAlE =H0tE XEA 200,000
HIIZS A2AIE FIOHERIAY 2,402,000 1,402,000 1,000,000
= 600,000
Ea 1,802,000
401 AIEHIX S0 2,402,000 1,402,000 1,000,000
= 600,000
o 1,802,000
01 A28l 2,000,000 1,400,000 600,000
OHPISAZAIE FIHEIIAEY 2,000,000
= 600,000
[Ea 1,400,000
02 Zeltl 400,000 0 400,000
OAZAIE FIHEXIAIY Zeld] 400,000
03 A2 THYI 2,000 2,000 0
OHJISAZAE FIHE XA 2,000
SIS Z N HKIELR2 1,200,000 400,000 800,000
= 600,000
o 600,000
401 AIEHIZ SR HYI 1,200,000 400,000 800,000
= 600,000
T 600,000
01 Al&HI 1,200,000 400,000 800,000
Oz etB0UHXIEIZ ZEAHY 1,200,000
= 600,000
= 600,000
Hess SEME XNZAY 52,000 60,861 A\8,861
= 26,000
o 26,000
101 21AH| 52,000 60,861 A\8,861
= 26,000
o 26,000
M ORNZZ2NSE S 52,000 60,861 28,861
OXgD| 88 Mgttt 2¢ 52,000
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2A:

A M}

33 Hol= fldFel XMel
Rl HOlE SEX2AIE 2l (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—JlEs 77,0002 x4 H*1202 36,960
= 26,000
= 10,960
— %X 77,0008 x4 E 6= 1,848
-5+ 77,0003 x4 »26 8,008
—E282 5,184,000& 5,184
HH2LZH(SZ 24D 28,152 27,367 785
Jl=23sl 28,152 27,367 785
JI=23Hl 28,152 27,367 785
201 fer= 3| 18,900 18,175 725
01 At 22|l 18,300 17,575 725
OZAETA 728 40,0003 * 122 480
OAIR4 SASX 7Y
22,0003 102t A% 123 2,640
OAR4 s M= 90,0002 +105 900
O=ADI & BA Uiz
700,000& * 128 8,400
OtI2H=ZE 12,5003 »202+ 123 3,000
OAMRES I 135,000& «12& 1,620
O8I, 30188)| glig
105,000& * 122 1,260
02 S3=gHl 600 600 0
OstZAaE21 & JIE A NdsRs S
50,000& * 122 600
202 04l 4,032 4,032
01 2LHoIH 4,032 4,032
SAE2E U
20,0003 x24H 122 x7(f% 4,032
203 HR=4AY] 5,220 5,160 60
MU A2 LRSI 5,220 5,160 60
ORANEY g4yl 5,220
—JlZ 435,000 123 5,220
HWRes(S8Z 24 1,889,141 2,040,951 A151,810
SHeHXIE 1,889, 141 2,040,951 A151,810
LHE A el 1,889, 141 2,040,951 /151,810
701 JIEtRI NS HES 1,889, 141 2,040,951 A151,810
01 JIEt=I AN ES 1,889,141 2,040,951 151,810
OJIEE=ssxcld 28 ZHIREs 577,628
OIIEE=NESAE 28 ZHIRES 1,168,966
O=RIX2Atd &t = DBAIE =Hl 2E3 17,547
O=H79 SEXNFIMNY 2HIRS=
125,000,000 125,000




